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(G ydani X | dlili) gt : § b | el et B3
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v\ 3 i (YA) el Sl ilaieg 36
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daga cilaylas )
S (£0) Glaie¥) Al S Al 2xe -
Jada (YA) glaie¥) il £ Ciladia aae -
Sl g gl olaiel) Al S cladia die Gy Al a8 5 e U -
(lela EDE) LAY (e -
An D (Te) DU Al ds 0l -
pAgling claglatl) oda B .. lllall (g 350
ALY e anl Lghpn g Al dadie s laie¥) Al S dadia (e JS 8 13 cilagledl) § 3
Ala) B el U8 s 48 S8 iy JIsadl 18
AUy e aladind ade 5 ecila gyl (8 alia )l lal g ¢ Aladl (5 5Y) Calall Gl aadi
dalisad dalall Al s Lladl daadid) Al ) 8 Caal ddlaal) Al elils) xie
Ll 3LEY) e 33 sl ladin 3 e JLeSind (S (5 A
e JS (o e Baal g dady LlaY) qgthaall g ¢ pladd daa s i) )
. did (B) 5 (A) o ol A LEaY) AdEd) ALY e olila) vie
T g O e (a JUEAY) Aliud ce dila) die
s JS0 SLS SLUss dgaall Ay e JIal) el cald s yalall Qi
s (C) dagaall Aay) 10l
@
% : dasasal) 4laY)
@
Anina LY cead dasaias Als) Cual s el cad o cad s cunl 13 e dlls A -
Lot ) ot Uad Als) Gl s hadlly a2 ¢ A Al Cual 1Y Lol 45 -
; 40 gata
Al gl Say e SSH e ST a5 )3 (Adaia G JLEAYY) A gua gal) ALLY) Al
Mol LYl el ¢ Alay) )
y
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Write all the chemical equations

balanced including the conditions of
the reaction:

Answer the following questions:

1- Choose to answer (a) or (b) :
Write the scientific expression
indicated by the following sentence:

(a) Determining concentration of known
volume of substance by using another

substance known its concentration
and volume.

(b) A solution of known concentration is
used to determin the concentration of

unknown solution.

A0S OY sl aall 2 te> LIS
cJelald) do g ol )S 20 A e
z'&.gS" 'i\.\.‘w?‘(_,.c%i

1(22) 91 (1) (e Al M1 s - )

e JIAI alall g llaatt LS|

5 ylalt

3als (y po-las @ 385 (ady (1)
B3Le (1o (3ins e g S )3 Bsnplacs
Ry

Ot pusiis 5.8 50 1 pglas J gl (o)
REVC TR PPRPREC N NIRRT

2- Using the following table how to

Lidas el oS L1 J gutant by Lisalians - ¥

distinguish practically between: 1O
Ethyl alcohol and dimethyl ether 09 -defead! AL 5als ¥ J 9
: , . (2ileasS O¥slas
(without chemical equations)
Reagent Ethyl alcohol Dimethyl ether
(st GLEaN J gt et AL i)
2 atd [ 2]¥]
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3- Choose the correct answer:
In the opposite figure:
The (K¢) value is:

(@) Equal one.
@ Greater than one.

@ Equal zero.

=S —d1 conc.

1 Aovouall Al ) Y

S laed| YL B
: Kc:‘-"-.‘3

z—i1sd!
Products RECNPN | P-P\ PP @

a9l (pa 5 ST @

Apawo (gglusd @

OMelat!
Reactants

931 (e JB @

@ Less than one.

4- Explain:
Iron that plated with tin corroded on
scratching faster than iron.

O—e 33! time

3 }“& -i
G| i paadtly Alaed| agasd ! ey

.t).uli Juaas

5- Calculate Kgp of calcium fluoride,
CaF;: Providing that the degree of
solubility is 2x107 M.

P ot 1S3 )98 Jgtomat Kp cowst -0
el A8k 93 A 53 o ceale 131 Cal,
2% 10" M golus

3
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6- Explain: b owd -1
On adding magnesium sulphate to N pgriblel) Sliy S Joloe 20Lo| i
sodium bicarbonate solution, the ppt. is | ™ =2 0952 psasall ShsSes dyloe

formed after heating. o
7- Choose to answer (a) or (b): () 91 (1) (e Al W1 4T -V

Show by chemical equations how to e 28 Aol O¥sladl by msy
obtain: vissi e (1D “";
(a) Iron (IT) chloride from iron (II) oxalate. W Slutslge (B e ;ﬁj (

(b) Magnetic iron oxide from iron (III) S 34 (o rioliks pcin cisasST ()

hydroxide. s(III) wous
4 Al [ 2]¥]

CIA 7 (VG o)l - A=alyol) dulinl) A



L 5 91~ (g 3l WIARLILY) £ LeadSH - ¥ VA/Y 2 WY (aal AT A Lt - Aol g 93 L0 el 5o ALEIN B 5L G Lokl

8- Show by a chemical equation: ¢ ADLeadSH Alalaotly ridg -A
The effect of nitration of 1,2,3- bz S g sien 538 -3,2,1 500 )5
trihydroxy propane, then write the name Ay gL 8 et el IS 03

of the product, and its importance.

9- Explain by a practical experiment the | e 28,81 51 mags A o0 754 -4
effect of concentration on the rate of T s 20 (eI Jo Ll June
chemical reaction. ~AaliesT Al latly

Write the chemical equation.

5 Al 1]
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10- Choose to answer (a) or (b) : 1(2) 91 (1) He Al ¥ pd3 -\
Write the scientific Expression 1Bkl e JI elall AlllalfCus|
indicated by the following sentence: (6 el e St LR e RR )
(a) The elements in which the sublevel Ranalon 3291 b oy A et

(4d) is filled successively and they =~ |5 ote Jdyanilisie Bagliiniee: (o)
4 . Ades cewld daustlals 40 3 a
are found in the fifth periods. S Ritlpls O 8o

(b) The process of obtaining the iron ore R
in a small size suitable to be reduced
easily.
11- Choose to answer (a) or (b) : () 91 (1) e Al ¥ pui -1 )
How to detect practically by using oo Ak Wil Liles Lo iS5 S
the main experiment, explain by iliesSI Aalaetly s g
chemical equation: $p 9l I 09518 (1)
(a) Calcium cation. $(ID) st 05518 ()
(b) Iron (II) cation.
6 Al S
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12- Choose to answer (a) or (b): () 91 (1) se Al M1 T -\ ¥
Explain: i
(a) The law of mass action is applied On | ystoe te 261 Jad 5318 Godais (1)

ammonium acetate solution and 1S NOt | yyios te G dats ¥g a5 503 S

applied on sodium chloride solution. pgasgall s
(b) The reactant molecules could colloide | . i tzan sigatr ctiss putass 1 ()
with each other and no chemical el s g Lguan

reaction takes place.

13- Choose the correct answer: + Aovouall Al W1 350 -\ Y
Dilute hydrochloric acid is used to el 5518 g sutgd | e poiun
detect the anion and cation: [958 g (gl e 2SI B

(@) Carbonate and calcium. paudisly Sligy,sh ()
@ Nitrite and silver. Anally co ) @
(©) Sulphate and mercury. GGl ()
(d) Phosphate and lead ol g Slawsalt ()
14- Explain: A (9l (-8 Salond) okl g -\ €

The colour change by heating nitrogen | gsiow Gtie o) (8393 (i
dioxide gas which is in a closed glass | ax s o8 gus g 2t ST il Gle

flask at room temperature. Write the Aslaelly o 9Tl po (A HaT1 3yl p
chemical equation. A eSS
7 Wil
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15- Choose the correct answer: + Avoual | Aala W1 S0 -1 0
The ions which have the electronic S 9ISIN S A g u-"‘-'“:"-"}:';’z
configuration [Ar], 3d* are: s [Ar] , 3d
@) Mn?*/Co* Mn**/ Co™" (D
® F*/ Fe’/ crt @
© ¥/ Mn** /Mt @
@ Fe**/ Mn®* Fe?*/ Mn®* @

16- A galvanic cell consists of zinc electrode | o= s Laldad d_dlale dds -\
and standard hydrogen electrode. 1 L@ (e 9 y-ugh

First : Write the cell diagram for this | -&4&dteig? o> Maw¥i je 1 s ¥

cell Al A ST AaB It 5 g Al ol LS

Second: Calculate the emf of this cell. |2 J=¥! e OLs 1

If the standard reduction 153 (-0.76) e lsnts

potential of zinc is (-0.76) volt.

8 MS’I@D
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17- Complete the table :

1T J gt JaST -\ Y

polymer
rad g

Type of polymerization
5 peldi gg0

Structural formula of the polymer

BURPWIL WL RIE FIPRT

Dacron
RS

Teflon
Oalad

18- You have a piece of leather, show by a
practical experiment how to detect the
presence of carbon and hydrogen in the
structure of leather. Write the chemical
equations.

O Lilee ol S Aot (pe Aakad LAt -\ A

ONS i i 95l 19 (9205 (G pmimiis

O slaetli s sl e Sullant! CoS 55 2
W PPW ]

9
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19- Choose to answer (a) or (b): () 91 (1) He Al M1 i - 14
Write the name of the organic e JI (G gttt S redf @uu! S|
compounds indicated by the following 1 AL 5Ll
sentence: 09255 934! (S gy idie dashy (1)

.«‘:,:'ani

(a) the s1mplest hydroxyl derivative of 55055 31861 o LauSy s e s ()
aromatic hydrocarbon. oiladi

(b) the simplest hydroxyl derivative of
aliphatic hydrocarbon.

20- Calculate the concentration of (B (i 9 )bl ) (39l i 55 ot | - Y ¢
hydrogen ions of 0.1 M solution of  |o=e> 0.1 M 058,35 Jgtone
formic acid. Providing that ionization aiali Cold ol Lete ﬂ-.w»a; !
constant of it is 1.8x 107 1.8 x 10"

1 0 prm [ 2]¥]
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21- Using the table, write the IUPAC names | pw™! <GSt quasett Jguadly Liaiue - Y

of the two following compounds:

OmttS pall S0 pLEALY (5 LiaST

3 Mm‘
Chemical formula IUPAC Name
S rall A0 LS Adual! Sl allas @uw!
B
H-CEC-(Ii-Clj-H
BrH , wh&mdd AN T e e\ R
CIl
CI
Br

22- On adding concentrated nitric acid to
iron, a thin layer is formed on it which

prevents the metal from further reaction.

Write the name of chemical material

that can be added to remove this layer.

pae> Lgd| Lol aauadl (pe dalad clhut - Y Y
sl Lgale A8 ) Aads 00 9D S p il 4
-Jelaitf calayl N
5 (S (A LeaiSH S pal ! @l ST
JAGdal sla AN Adals)

11
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23- Show the total reaction in mercury | &sbst S Jolailf Atslae ciSH - VY

cell indicating on it the oxidation and | cides lede Lndge (G031 Ads 8
reduction processes. -JIA Y1 g 5UuSY)

1 dovowall Al o) -V ¢
e g gty 0.1 Mojus 5 g1 g gtomall
i glone 9 2909 )egh| gl (yo 38 53 e

24- Choose the correct answer:
The 0.1M solution which contains a

higher hydronium ions is:

@ CH,COOH CH,COOH
3 3
NacCl NaCl
@ @
Ba(OH) Ba(OH)
2 2

@ KBr KBr (3)

12 MS’I@D
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25- Choose to answer (a) or (b): () 91 (1) e Al W)y -0
Show by chemical equations how to | Je>daS 2oL S¥slaal iz
obtain: le

2t slall (pe p g3 guall il 5 (1)

(a) Sodium benzoate from toluene.
g ied| e (4 ey (o)

(b) Benzamide from benzoic acid.

26- Show by chemical equations how to + A0 LeadSI S¥ slaat by dg - Y
obtain: 9035372 (50 0939 p e Jruami i S
Propanone from 2- bromo propane. S0kig

1 3 Al 1]
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27- The opposite figure represents the § T S - YV
electroplating of metallic rod by a R pSiud Aoy Ads (e ey
layer of silver. -ALal (e Adday Addae Blw ¢ Mo

I
AgNoO,

First : What occurs in the electrode a8 e (B) cotaatr ey 1l <y
(B)Write the chemical equation SalieSI| Alslald
Second: Calculate the mass of silver S e )T Biall) ALS cumung Ll

0.1 Lo 508 2y 5531 (g0 S 5950

deposits on passing a quantity Ag =108 oL Lete cotaiyls
. = . gl

of electricity of 0.1 Faradays
[Ag=108].

14 MS’I@D
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28- Choose to answer (a) or (b) : () 91 (1) (e Al W1 5T - YA
Write the balanced symbolic equation | s i1 2559031 G 31 aslaedt CIs)
that expresses the following: Oe

CH,COO] [H;0"
@ K, = [CHCOOTIHO] o
[CH;COOH]
NH, "] [OH
b K- [NH, "] [OH] (o)
[NH;]

29- Choose to answer (a) or (b) : () 91 (1) (e Al W1 5T - Y4

Explain:  —d

(a) Substitutional alloy can be obtained | %! &St e Jsandt oS (1)
Sty st (pe

Obdaltt o Hlguan¥! ‘“_,_7;.-).1 t\.&.b' (@)
Sp g liid! puaial

from ferronickel.
(b) Titanium element has high melting
and boiling points.

15 Al 1]
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30- Choose to answer (a) or (b): () 91 (1) pe Al ¥ puni - Y
How to distinguish practically between: O alae G9) (g Liles jusal oS
(without chemical equations). H(Ables
(a) Barium phosphate and barium sulphate. | Sesuld! ol Sy psbd) Slawsa (1)
(b) Silver iodide and silver phosphate. Shual) Claw gd g Aaall wangs (o)

31- Show by chemical equation, how to Juasd S AlibeeuSI| Aalally puidg ¥

obtain salicylic acid from aspirin. 0¥ o il e Lo
32- Choose the correct answer : ¢ Aovouall Al NI S Y'Y
ScCl; compound is : :ScCl, Sl
(@) Paramagnetic and coloured. Gstes gustotine s (1)
@ Paramagnetic and colourless. Osle b g unlaliae b @
(©) Diamagnetic and coloured. [Ogley udaline s @
@ Diamagnetic and colourless. Osle b g unloliae Ly @
1 6 atd [ 2]¥]
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33- In the equilibrium system: 1 T (3 AL B -y
2803y + Oz = 2803 , AH=(-) 28054+ Oy = 2805, AH= ()
What is the effect of the following on the |75 et 413 S it -0l Le
sulphure trioxide concentration: e "““"“‘S' “‘""
First : Withdrawing (removing) the PO oo Ot DS oty

oxygen from the reaction. RS AL
Second: Increasing pressure.

34- Show by chemical equations: Ao A0l S OWalaetl sy -8
The preparation of benzene in lab; then | —2=Ss fd-erelt -8 (ojid! juas
show how to obtain benzene sulphonic | Ekisalu (i pae (e dis Juasd
acid from it.

17 Al 1]
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35- Calculate the time required to Ao 1.8 oy a3 e 33 cows ! YO
deposit 1.8 g of aluminum Al”” when Judit e Al%7 P ockast ¥ 5ta (pe
performing electrolysis of molten A Al S 50 35l ot 2SS
bauxite on passing an electric current ) )

e 10 40805
of strength 10 amperes. el 10 454 5L

36- Two organic compounds have the general | Zslal dsuall Lagt slagiae GLS 50 -1

formula (C,H,,), one of them saturated | ,>%15(A) audio Leassi (CHpn)
(A) and the other unsaturated (B) -(B) s 52
Show by chemical equations how to obtain: | &S Zolest O¥alaetly my
First : The saturated compound (A) 1 ole Juasd

from benzene. S50 (0 (A) gl o8 a1 Y]
Second: Dihydric alcohol from the S (38 St 9 gl LS J 98 1L

unsaturated compound (B). $(B) et 52

18 Al S
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37- Choose to answer (a) or (b) : () 91 (1) (e Al M1 i -1V
Write the scientific expression indicated | :3bal! ole JIA olal mllaal! cas
by the following sentence: Aeleast BBLM (o g Lgud s Zataihy (1)

(a) The systems which convert the stored | 9> 0= se% 23Lb ! B3l
il AL 135 g BueuST Jolal
~((‘:,.au\S.al‘

chemical energy to electrical energy
through a spontaneous irreversible
oxidation-reduction reaction.

(b) The mass of the substance that has the

91 AEd e 5yuat Lgh LA Baladt ALS) (&)
sLa1 Gl g AT N (po wlg Jgo wiluis)

. . .«‘:,-‘!l:m:&ﬂ‘}c\.&ﬂ‘
ability to lose or gain one mole of the
electrons during the chemical reaction.
38- Choose the correct answer: ¢ Aomouall Al W1 yist -YA

ortho-Chloro methyl benzene can be| : it (o s 95588 5351 oS ol
prepared by:

Reduction of phenol; then

halogenation of the product. LT Ants @3 J giecal! 13050

(b) Halogenation of toluene. (rgtslall Aints

Reduction of phenol; then

alkylation of the product. gl 3 danall JUR

©® O o

@ Alkylation of toluene. O s slall AISI

19 Al 1]
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39- Write the name of the salt: ¢ et ol IS1 <Y
A salt solution with silver nitrate forms | @lras Jotos atl carisiplo Joloo
a black precipitate and by passing S8 sy 130y 3 gcal oty (15530 Al
hydrogen sulphide gas through it in Tledl et Jstons B (g )-ed | i S
acidic medium by hydrochloric acid 0953 )18 g yueg! ua-w ua:a;.a‘
forms also a black precipitate. L gl ceut

40- Choose the correct answer: ¢ Aovoual! Aala W) Sl -6 0
Glycine is an example of: : poben M1 ALiel (10 (naacy Mot olin
(@) Hydroxylic acids. adeusyman (1)
(® Amino acids. At (Q
(©) Aromatic acids. aslegtt )

(@ Fatty acids. assan (3)

41- Explain: ¢ ywd - %)
Methyl orange is not used to distinguish | it =2 IS 3 Jodicad | puiions ¥
between sodium chloride solution and | liels poasalt a)slS Tlos
ammonium acetate solution. NPRPVL{

20 atd [ 2]¥]
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42- Explain: sl Y
The fuel cell differs from the other TRV O RSP P PU P WERIVE R
Jaolata !

galvanic cells.

43- Choose to answer (a) or (b): () 91 (1) o Ayl W1 pns - £ ¥
Show by chemical equations how to obtain: | :ee dai S 2okl S¥slally may
(a) Carbolic acid from benzene. sgmffﬁ%{ 'f" ‘m"”\j '_‘;""1" (2;
(b) 1,2 dibromo ethene from methane. Ahdiiadwi\ 6 -

21 Al 1]
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44- 10 g of impure KOH sample was KOH (o 2 5 aie 3o 10 g eani - ¢
dissolved in water and completed 500 ml 31 Jgtmalt JaSis slati 8
to become 500 ml. If 10 ml of this o Jotmatitin o 10 Ml galas 3L
solution neutralized with 15 ml of 0.2 |« sy ,g!f paes Jotoe o 15 ml
M hydrochloric acid. Calculate the 0.2 Mojs,s
percentage of KOH in the sample. St o3 KOH aws cous
[Providing: K =39, 0 =16, H= 1] (K-39 .0-16 H-1 ;L)
45- How to distinguish practically ELCL ,SH paas (s Lilas judd S ~£0

between diluted sulphuric acid and | S, S s aasy caddl
concentrated sulphuric acid by using | z«osit! g ittt Aol
iron. Write the chemical equations. - A0 beSI O¥ s latly

Al Sl
22

CIA 7 (VG o)l - A=alyol) dulinl) A





